Award Worksheet

Purchasing Entity:	Shelby County Schools	
Bid ID:	2662	
Description:	Bid for Central Nutrition Center	I
Category:	2019-20 Canned and Pouched Fruits & Vegetables -KT	I
Effective Start Date:		

Awarded: Bids Due By: Bids Sealed Until:

05/03/2019 11:00 AM 05/03/2019 11:00 AM

	Vendor S	Summary Information	
Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary
Atlantic Beverage Company		·	869,417.4400
Bush Brothers & Company		Net 11 Days	250,109.4400
Churchfield Trading Company		1/2% 10 net 30	1,832,426.5200
Conagra Brands, Inc.	Conagra requires shipments to total at least 2,500 pounds gross cumulative weight per temp class, and to be full pallets. Shipments are subject to Conagra pool delivery schedules.	Our payment terms are Net 30 days.	392,360.2400
National Food Group Inc.			158,032.0000
Red Gold, LLC		Net 30 Days	220,824.5600
Robbins Sales Company	Net 30 Days	Net 30 Days	1,420,117.4400
Schreiber Foods International		Net 30	1,117,718.4000
SIMCO FOODS	Lead time required is 14 days. Item# 1165 Tropical fruit in Light Syrup and Item# 1170 Pineapple Chunks in Juice are product of Thailand or Philippines.	Net terms 30 days	334,675.6000
	· · · ·		4 005 705 0000

Wm R Hill & Co Inc

Effective End Date:

0% Net 30

1,235,785.2800

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
No lotted items found f 1	or the selected criteria. Item #: 1004 **Beans, Pinto, Canned - Packed in brine. Packed to U.S. Grade A standard, 6 #10 cans / case. Manufacturer & Part Number:	1 - 6.0000 Each Case Blackhive	Wm R Hill & Co Inc	14.7500	3,808	56,168.00			
	Quoted as Spec'd: Yes		Product Number: 237B						
	Item Notes: Total of 3,808 case	S.							
	Full Description: **Beans, Pinto Weight: 62.5 oz.	, Canned - Packed in brine.	Packed to U.S. Grade A standar	d, 6 #10 cans / cas	se. Minimum	Drained			
	Response Item Payment Terms	s: 0% Net 30	Ship Lot: 952.						
	Item #: 1004 **Beans, Pinto, Canned - Packed in brine. Packed to U.S. Grade A standard, 6 #10 cans / case.	1 - 6.0000 Each Case	Robbins Sales Company	16.4400	3,808	62,603.52			
	Manufacturer & Part Number:	Furmano - 41188-042							
	Quoted as Spec'd: Yes	Not 20 days	Product Number: 41188-04239)					
	Response Item Payment Terms	s: Net 30 days							
	Item #: 1004 **Beans, Pinto, Canned - Packed in brine. Packed to U.S. Grade A standard, 6 #10 cans / case. Manufacturer & Part Number:	1 - 6.0000 Each Case NFG	National Food Group Inc.	16.5000	3,808	62,832.00			
	Quoted as Spec'd: Yes		Product Number: 606845						
	Response Item Payment Terms	s: 30 Days Net							
	Response Item Notes: 952 Cas	e Minimum Ship Lot							
	Item #: 1004 **Beans, Pinto, Canned - Packed in brine. Packed to U.S. Grade A standard, 6 #10 cans / case.	1 - 6.0000 Each Case	Churchfield Trading Company	19.9800	3,808	76,083.84			

Line Lot Number Code	Item Description Manufacturer & Part Number:	Purchase Unit OUR HOUSE	Vendor		esponse Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Quoted as Spec'd: Yes		Product Number: OHPB610						
	Item #: 1004 **Beans, Pinto, Canned - Packed in brine. Packed to U.S. Grade A standard, 6 #10 cans / case.	1 - 6.0000 Each Case	Conagra Brands, Inc.	29.8500	3,808	113,668.80			
	Manufacturer & Part Number:	Ranch Style Brand/CO	Dnagara Brands, Inc 46900-001	16					
	Quoted as Spec'd: Yes		Product Number: 46900-00116						
	Response Item Payment Terms	: Net 30 Days							
	Response Item Notes: 98 cases	s Minimum Order							
2	Item #: 1152 Fruit Cocktail, Canned - Packed to U.S. Grade B standards or better. Manufacturer & Part Number:	1 - 6.0000 Each Case Sunfield	Atlantic Beverage Company	25.5800	4,760	121,760.80			
	Quoted as Spec'd: Yes		Product Number: 703041						
	Item Notes: Total of 4,760 cases	S.							
	Full Description: Fruit Cocktail, (Canned - Packed to U.S. Gr	ade B standards or better. Contai ase. Minimum Drained Weight: 72		grapes, pine	eapples			
	Ship Lot: 476.								
	Item #: 1152 Fruit Cocktail, Canned - Packed to U.S. Grade B standards or better. Manufacturer & Part Number:	1 - 6.0000 Each Case Ambrosia	Schreiber Foods International	29.5000	4,760	140,420.00			
	Quoted as Spec'd: Yes		Product Number: 14970						
	Response Item Payment Terms	:: Net 30							
	Item #: 1152 Fruit Cocktail, Canned - Packed to U.S. Grade B standards or better. Manufacturer & Part Number:	1 - 6.0000 Each Case Royal Food Import	Wm R Hill & Co Inc	31.4600	4,760	149,749.60			
		noyan oou import							

Line Lot Number Code	Item Description Quoted as Spec'd: Yes	Purchase Unit	Vendor Product Number: 145A	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Response Item Payment Terms	: 0% Net 30							
	Item #: 1152 Fruit Cocktail, Canned - Packed to U.S. Grade B standards or better. Manufacturer & Part Number:	1 - 6.0000 Each Case Port Royal Premium	Robbins Sales Company	34.5000	4,760	164,220.00			
	Quoted as Spec'd: Yes	i oli Royal i telliali	Product Number: 19211-53305						
	Response Item Payment Terms	• Net 30 Days							
	Item #: 1152 Fruit Cocktail, Canned - Packed to U.S. Grade B standards or better.	1 - 6.0000 Each Case	Churchfield Trading Company	35.2500	4,760	167,790.00			
	Manufacturer & Part Number:	OUR HOUSE							
	Quoted as Spec'd: Yes		Product Number: OHFC610						
3	Item #: 1164 Fruit, Tropical - Packed to U.S. Grade B standard or better, 6/#10 cans / case. Manufacturer & Part Number:	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company	20.3400	4,760	96,818.40			
	Quoted as Spec'd: Yes		Product Number: 703042						
	Item Notes: Total of 4,760 cases	S.							
			andard or better, 6/#10 cans / cas atural fruit juice. Minimum Drained		ineapple, red	bapaya,			
	Item #: 1164 Fruit, Tropical - Packed to U.S. Grade B standard or better, 6/#10 cans / case. Manufacturer & Part Number:	1 - 6.0000 Each Case Port Royal Premium	Robbins Sales Company	20.4400	4,760	97,294.40			
	Quoted as Spec'd: Yes	i on noyari romum	Product Number: 19211-53350						
	Response Item Payment Terms	• Net 30 Dave	1 19440t Humber, 19211-00000						

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Item #: 1164 Fruit, Tropical - Packed to U.S. Grade B standard or better, 6/#10 cans / case. Manufacturer & Part Number:	1 - 6.0000 Each Case Ambrosia	Schreiber Foods International	24.9500	4,760	118,762.00			
	Quoted as Spec'd: Yes		Product Number: 14941						
	Response Item Payment Terms	s: Net 30							
	Item #: 1164 Fruit, Tropical - Packed to U.S. Grade B standard or better, 6/#10 cans / case. Manufacturer & Part Number:	1 - 6.0000 Each Case Blackhive	Wm R Hill & Co Inc	25.1200	4,760	119,571.20			
	Quoted as Spec'd: Yes		Product Number: 146F						
	Response Item Payment Terms	s: 0% NFT 30							
	Item #: 1164 Fruit, Tropical - Packed to U.S. Grade B standard or better, 6/#10 cans / case. Manufacturer & Part Number:	1 - 6.0000 Each Case OUR HOUSE	Churchfield Trading Company	30.0000	4,760	142,800.00			
	Quoted as Spec'd: Yes	OURTIOUCE	Product Number: OHTF610						
	Item #: 1164 Fruit, Tropical - Packed to U.S. Grade B standard or better, 6/#10 cans / case. Manufacturer & Part Number:	1 - 6.0000 Each Case Dole	SIMCO FOODS	36.9100	4,760	175,691.60			
	Quoted as Spec'd: Yes		Product Number: 38900 09082						
	Response Item Payment Terms	s: Net Terms 30 days							
	Response Item Notes: Lead tim	ne required is 14 days. Proc	duct of Thailand or Philippines. Pric	e based on delive	eries of 952 ca	ises.			
4	Item #: 1165 **Peaches, Slices, Canned. Packed to U.S. Grade B standard or better; 6/#10 cans per case. Manufacturer & Part Number:	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company	22.3400	5,712	127,606.08			

Line Lot Number Code	Item Description Quoted as Spec'd: Yes	Purchase Unit	Vendor Product Number: 703107		Response Quantity	Total Price	Pending Award Quantity	Pending Award Pending Total Award	
	Item Notes: Total of 5,712 case	S.							
				<i></i>					
	Full Description: **Peaches, Slid 100% juice. Minimum Drained		5. Grade B standard or better; 6/	#10 cans per case.	Yellow Cling,	packed in			
	Ship Lot: 952.								
	Item #: 1165 **Peaches, Slices, Canned. Packed to U.S. Grade B standard or better; 6/#10 cans per case.	1 - 6.0000 Each Case	Wm R Hill & Co Inc	24.9900	5,712	142,742.88			
	Manufacturer & Part Number:	Blackhive							
	Quoted as Spec'd: Yes		Product Number: 172a						
	Response Item Payment Terms								
	Response Item Notes: Product	of Chile. Same quality and g	grading as domestic but more ec	onomical					
	Item #: 1165 **Peaches, Slices, Canned. Packed to U.S. Grade B standard or better; 6/#10 cans per case.	1 - 6.0000 Each Case	Schreiber Foods International	26.9500	5,712	153,938.40			
	Manufacturer & Part Number:	Ambrosia							
	Quoted as Spec'd: Yes		Product Number: 38422						
	Response Item Payment Terms	s: Net 30							
	Item #: 1165 **Peaches, Slices, Canned. Packed to U.S. Grade B standard or better; 6/#10 cans per case.	1 - 6.0000 Each Case	Robbins Sales Company	33.4400	5,712	191,009.28			-
	Manufacturer & Part Number:	Port Royal Premium							
	Quoted as Spec'd: Yes		Product Number: 19211-2804	5					
	Response Item Payment Terms	s: Net 30 Days							
									_

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Item #: 1165 **Peaches, Slices, Canned. Packed to U.S. Grade B standard or better; 6/#10 cans per case. Manufacturer & Part Number:	1 - 6.0000 Each Case OUR HOUSE	Churchfield Trading Company	34.9000	5,712	199,348.80			
		Quoted as Spec'd: Yes	OUR HOUSE	Product Number: OHPS610						
5		Item #: 1168 **Pears, Slices, Canned - Packed to U.S. Grade B standard or better; 6/#10 cans per case. Manufacturer & Part Number:	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company	22.4400	3,808	85,451.52			
		Quoted as Spec'd: Yes		Product Number: 703083						
		Item Notes: Total of 3,808 cases	5.							
		Full Description: **Pears, Slices, juice. Minimum Drained Weight:		Grade B standard or better; 6/#10) cans per case; Ba	artlett; packed	in 100%			
		Ship Lot: 952.								
		Item #: 1168 **Pears, Slices, Canned - Packed to U.S. Grade B standard or better; 6/#10 cans per case. Manufacturer & Part Number:	1 - 6.0000 Each Case Royal Food Import	Wm R Hill & Co Inc	26.3900	3,808	100,493.12			
		Quoted as Spec'd: Yes	Royal i ood import	Product Number: 174a						
		Response Item Payment Terms	• 0% pet 30							
				l grade as domestic but more eco	nomical					
			or onina. Same quality and		nomical					
		Item #: 1168 **Pears, Slices, Canned - Packed to U.S. Grade B standard or better; 6/#10 cans per case.	1 - 6.0000 Each Case	Schreiber Foods International	27.5000	3,808	104,720.00			
		Manufacturer & Part Number:	Ambrosia							
			Ambrosia	Product Number: 38515						

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Item #: 1168 **Pears, Slices, Canned - Packed to U.S. Grade B standard or better; 6/#10 cans per case.	1 - 6.0000 Each Case	Robbins Sales Company	29.9000	3,808	113,859.20			
	Manufacturer & Part Number:	Our House							
	Quoted as Spec'd: Yes		Product Number: OHPR610						
	Response Item Payment Terms	: Net 30 Days							
	Item #: 1168 **Pears, Slices, Canned - Packed to U.S. Grade B standard or better; 6/#10 cans per case. Manufacturer & Part Number:	1 - 6.0000 Each Case OUR HOUSE	Churchfield Trading Company	33.9500	3,808	129,281.60			
	Quoted as Spec'd: Yes	CONTINUES	Product Number: OHPRS610						
6	Item #: 1170 Pineapple Chunks, Canned - Packed to U.S. Grade A standard, 6/#10 cans per case. Manufacturer & Part Number:	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company	17.2800	4,760	82,252.80			
	Quoted as Spec'd: Yes		Product Number: 703070						
	Item Notes: Total of 4,760 cases	i.							
	Full Description: Pineapple Chur Minimum Drained Weight: 66 oz		S. Grade A standard, 6/#10 cans	per case, packed	in pineapple ji	uice.			
	Ship Lot: 952.								
	Item #: 1170 Pineapple Chunks, Canned - Packed to U.S. Grade A standard, 6/#10 cans per case.	1 - 6.0000 Each Case	Robbins Sales Company	17.8400	4,760	84,918.40			
	Manufacturer & Part Number:	Port Royal Premium							
	Quoted as Spec'd: Yes		Product Number: 19211-57710	I					
	Response Item Payment Terms	: Net 30 Days							

Line	Lot					Response		Pending Award	Pending Award	Pending
Number	Code	Item Description	Purchase Unit	Vendor	Bid Price	Quantity	Total Price	Quantity	Total	Award
		Item #: 1170 Pineapple Chunks, Canned - Packed to U.S. Grade A standard, 6/#10 cans per case.	1 - 6.0000 Each Case	Wm R Hill & Co Inc	18.8500	4,760	89,726.00			
		Manufacturer & Part Number:	Blackhive							
		Quoted as Spec'd: Yes		Product Number: 176G						
		Response Item Payment Terms								
		Response Item Notes: There are	e no domestic packers of th	is product						
		Item #: 1170 Pineapple Chunks, Canned - Packed to U.S. Grade A standard, 6/#10 cans per case.	1 - 6.0000 Each Case	Schreiber Foods International	19.9500	4,760	94,962.00			
		Manufacturer & Part Number:	Ambrosia							
		Quoted as Spec'd: Yes		Product Number: 19063						
		Response Item Payment Terms	: Net 30							
		Item #: 1170 Pineapple Chunks, Canned - Packed to U.S. Grade A standard, 6/#10 cans per case.	1 - 6.0000 Each Case	Churchfield Trading Company	23.7000	4,760	112,812.00			
		Manufacturer & Part Number:	OUR HOUSE							
		Quoted as Spec'd: Yes		Product Number: OHPC610						
		Item #: 1170 Pineapple Chunks, Canned - Packed to U.S. Grade A standard, 6/#10 cans per case.	1 - 6.0000 Each Case	SIMCO FOODS	33.4000	4,760	158,984.00			
		Manufacturer & Part Number:	Dole							
		Quoted as Spec'd: Yes		Product Number: 38900 00468	3					
		Response Item Payment Terms	: Net terms 30 days							
		Response Item Notes: Lead time	e required is 14 days. Price	based on deliveries of 952 case	s. Product of Thai	land or Philipp	pines.			

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
7		Item #: 1183 Greens, Turnip - Packed to U.S. Grade A standards. Must be low-sodium; cut.	1 - 6.0000 Each Case	Robbins Sales Company	23.4000	4,760	111,384.00			
		Manufacturer & Part Number:	Margaret Holmes							
		Quoted as Spec'd: Yes		Product Number: 11252						
		Item Notes: Total of 4,760 cases	5.							
		Full Description: Greens, Turnip cans per case.	- Packed to U.S. Grade A	standards. Must be low-sodium; c	ut. Minimum draii	ned weight: 60	oz. Six			
		Ship Lot: 476. Response Item Payment Terms	: Net 30 Days							
		Item #: 1183 Greens, Turnip - Packed to U.S. Grade A standards. Must be low-sodium; cut. Manufacturer & Part Number:	1 - 6.0000 Each Case McCall Farms	Wm R Hill & Co Inc	25.1500	4,760	119,714.00			
		Quoted as Spec'd: Yes		Product Number: 247a						
		Response Item Payment Terms	: 0% net 30							
		Item #: 1183 Greens, Turnip - Packed to U.S. Grade A standards. Must be low-sodium; cut. Manufacturer & Part Number:	1 - 6.0000 Each Case mccalls	Churchfield Trading Company	27.1000	4,760	128,996.00			
		Quoted as Spec'd: Yes		Product Number: 11252						
8		Item #: 1233 Tomato Paste - Packed to U.S. Grade A standard. Approximate Bag Size: 115 oz. #10 can equivalent. Manufacturer & Part Number:	1 - 6.0000 Each Case Chef Johns	Robbins Sales Company	22.1800	1,904	42,230.72			
		Quoted as Spec'd: Yes		Product Number: 56356-00665						
		Item Notes: Total of 1,904 cases	S.							
		Full Description: Tomato Paste -	Packed to U.S. Grade A s	tandard. Approximate Bag Size: 1	15 oz. #10 can e	quivalent pouc	ches.			
		Ship Lot: 476								

Ship Lot: 476.

Line Lot Number Code	Item Description Response Item Payment Terms	Purchase Unit s: Net 30 Days	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award	
	Item #: 1233 Tomato Paste - Packed to U.S. Grade A standard. Approximate Bag Size: 115	1 - 6.0000 Each Case	Churchfield Trading Company	28.5000	1,904	54,264.00				
	oz. #10 can equivalent. Manufacturer & Part Number:	OUR HOUSE								
	Quoted as Spec'd: Yes		Product Number: OHTP610							
	Item #: 1233 Tomato Paste - Packed to U.S. Grade A standard. Approximate Bag Size: 115 oz. #10 can equivalent.	1 - 6.0000 Each Case	Wm R Hill & Co Inc	29.4900	1,904	56,148.96				
	Manufacturer & Part Number:	Royal Food Import								
	Quoted as Spec'd: Yes		Product Number: 270c							
	Response Item Payment Terms	s: 0% net 30								
	Response Item Notes: Product of China. Same quality & grade as domestic but more economical									
	Item #: 1233 Tomato Paste - Packed to U.S. Grade A standard. Approximate Bag Size: 115 oz. #10 can equivalent.	1 - 6.0000 Each Case	Red Gold, LLC	32.1300	1,904	61,175.52				
	Manufacturer & Part Number:	Red Gold, LLC								
	Quoted as Spec'd: Yes		Product Number: RPKUA99							
	Response Item Payment Terms	s: Net 30 Days								
	Response Item Notes: 0.5 oz =	1/4 cup R/O Vegetable								
	Item #: 1233 Tomato Paste - Packed to U.S. Grade A standard. Approximate Bag Size: 115 oz. #10 can equivalent.	1 - 6.0000 Each Case	Conagra Brands, Inc.	32.6300	1,904	62,127.52				
	Manufacturer & Part Number:	Hunt's/Conagra Bran	ds, Inc 27000-38837							
	Quoted as Spec'd: Yes		Product Number: 27000-38837							
	Response Item Payment Terms	s: Net 30 Days								

Line Lot Number Code	Item Description Response Item Notes: 100 case	Purchase Unit e Minimum Order	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
9	Item #: 1234 Jalapeno Peppers, Sliced, Canned - Packed in #10 cans. Minimum Drained Weight: 80 oz. Manufacturer & Part Number:	1 - 6.0000 Each Case Ambrosia	Schreiber Foods International	23.5000	400	9,400.00			
		AIIIDIOSIa	Product Number: 17450						
	Quoted as Spec'd: Yes Item Notes: Total of 400 cases.		Froduct Number: 17450						
		ers, Sliced, Canned - Pack	ed in #10 cans. Minimum Draine	d Weight: 80 oz.					
	Item #: 1234 Jalapeno Peppers, Sliced, Canned - Packed in #10 cans. Minimum Drained Weight: 80 oz. Manufacturer & Part Number:	1 - 6.0000 Each Case OUR HOUSE	Churchfield Trading Company	27.9500	400	11,180.00			
	Quoted as Spec'd: Yes		Product Number: OHJP610						
	Item #: 1234 Jalapeno Peppers, Sliced, Canned - Packed in #10 cans. Minimum Drained Weight: 80 oz. Manufacturer & Part Number:	1 - 6.0000 Each Case	Conagra Brands, Inc. ands, Inc 27000-52785	46.4400	400	18,576.00			
	Quoted as Spec'd: Yes	i tooanna, connagia 210	Product Number: 27000-5278	5					
	Response Item Payment Terms	s: Net 30 Days		-					
	Response Item Notes: 96 case								
	Item #: 1234 Jalapeno Peppers, Sliced, Canned - Packed in #10 cans. Minimum Drained Weight: 80 oz. Manufacturer & Part Number:	1 - 6.0000 Each Case Furmano	Wm R Hill & Co Inc	54.9500	400	21,980.00			

Line Lot Number Cod		Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award			
	Quoted as Spec'd: Yes		Product Number: 280a									
	Response Item Payment Terms	s: 0% net 30										
10	Item #: 1282 Salsa / Picante Sauce - A blend of tomatoes, onion, peppers and spices in a tomato sauce. Manufacturer & Part Number:	1 - 6.0000 Each Case Blackhive	Wm R Hill & Co Inc	21.0600	3,000	63,180.00						
	Quoted as Spec'd: Yes		Product Number: 9598									
	Item Notes: Total of 3,000 case	S.										
	Full Description: Salsa / Picante	Sauce - A blend of tomat	pes, onion, peppers and spices in	a tomato sauce.	Vild in spice.							
	Approximate Pack: 6/#10 cans Ship Lot: 300. Response Item Payment Term :											
	Item #: 1282 Salsa / Picante Sauce - A blend of tomatoes, onion, peppers and spices in a tomato sauce.	1 - 6.0000 Each Case	Churchfield Trading Company	26.7300	3,000	80,190.00						
	Manufacturer & Part Number:	OUR HOUSE										
	Quoted as Spec'd: Yes		Product Number: OHS610									
	Item #: 1282 Salsa / Picante Sauce - A blend of tomatoes, onion, peppers and spices in a tomato sauce.	1 - 6.0000 Each Case	Red Gold, LLC	27.0300	3,000	81,090.00						
	Manufacturer & Part Number:	Red Gold, LLC										
	Quoted as Spec'd: Yes		Product Number: REDSC99									
	Response Item Payment Terms	Response Item Payment Terms: Net 30 Days										
	Response Item Notes: 1.5 oz =	1/4 cup Red/Orange Vege	table Item is 6/#10 Cans									

Line Lot Number Code	Item Description Item #: 1282 Salsa / Picante Sauce - A blend of tomatoes, onion, peppers and spices in a tomato sauce. Manufacturer & Part Number: Quoted as Spec'd: Yes Response Item Payment Terms Response Item Notes: 96 case	: Net 30 Days	Vendor Conagra Brands, Inc. ands, Inc 44300-10677 Product Number: 44300-10677	Bid Price 34.9100	Response Quantity 3,000	Total Price 104,730.00	Pending Award Quantity	Pending Award Total	Pending Award
11		1 - 6.0000 Each Case ruby kist ce, Jellied, Canned - Packe	Atlantic Beverage Company Product Number: 41152-23207 d to U.S. Grade A standard. 6/#10	31.4800) cans per case.	500	15,740.00			
	Ship Lot: 250. Item #: 1295 Cranberry Sauce, Jellied, Canned - Packed to U.S. Grade A standard. 6/#10 cans per case. Manufacturer & Part Number: Quoted as Spec'd: Yes	1 - 6.0000 Each Case OUR HOUSE	Churchfield Trading Company Product Number: OHCS610	33.9500	500	16,975.00			
12	Item #: 1443 **Whole Kernel Corn, Canned - Golden Yellow. Low-Sodium (below 140 mg). Manufacturer & Part Number: Quoted as Spec'd: Yes Item Notes: Total of 5,712 cases	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company Product Number: 700080	17.9800	5,712	102,701.76			

Full Description: **Whole Kernel Corn, Canned - Golden Yellow. Low-Sodium (below 140 mg). Packed to U.S. Grade B standards or

Line Lot Number Code	Item Description better. 6/#10 cans / case. Mini Ship Lot: 952.	Purchase Unit mum drained weight: 68 oz	Vendor . per can.	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Item #: 1443 **Whole Kernel Corn, Canned - Golden Yellow. Low-Sodium (below 140 mg). Manufacturer & Part Number :	1 - 6.0000 Each Case Blackhive	Wm R Hill & Co Inc	18.4000	5,712	105,100.80			
	Quoted as Spec'd: Yes		Product Number: 215a						
	Response Item Payment Terms	s: 0% net 30							
	Item #: 1443 **Whole Kernel Corn, Canned - Golden Yellow. Low-Sodium (below 140 mg).	1 - 6.0000 Each Case	Schreiber Foods International	19.7500	5,712	112,812.00			
	Manufacturer & Part Number: Quoted as Spec'd: Yes	Ambrosia	Product Number: 26011						
	Response Item Payment Terms	s: Net 30							
	Item #: 1443 **Whole Kernel Corn, Canned - Golden Yellow. Low-Sodium (below 140 mg).	1 - 6.0000 Each Case	Robbins Sales Company	19.7800	5,712	112,983.36			
	Manufacturer & Part Number:	Our House							
	Quoted as Spec'd: Yes		Product Number: OHWKC610						
	Response Item Payment Terms	s: Net 30 Days							
	Item #: 1443 **Whole Kernel Corn, Canned - Golden Yellow. Low-Sodium (below 140 mg).	1 - 6.0000 Each Case	Churchfield Trading Company	20.7900	5,712	118,752.48			
	Manufacturer & Part Number:	OUR HOUSE							
	Quoted as Spec'd: Yes		Product Number: OHC610						

Line Lot Number Code 13	Item Description Item #: 1475 Sweet Potatoes, Canned - Fancy Cut; packed in light syrup. Manufacturer & Part Number:	Purchase Unit 1 - 6.0000 Each Case sunfield	Vendor Atlantic Beverage Company	Bid Price 22.2400	Response Quantity 3,808	Total Price 84,689.92	Pending Award Quantity	Pending Award Total	Pending Award
	Quoted as Spec'd: Yes		Product Number: 711135						
	Item Notes: Total of 3,808 cases	5.							
	Full Description: Sweet Potatoes Packed to U.S. Grade A standard		ked in light syrup. Sliced approx. mum Drained Weight: 73 oz.	1 1/2"-2 1/2" acros	s and 3/4" to [,]	1 1/4" thick.			
	Ship Lot: 476.								
	Item #: 1475 Sweet Potatoes, Canned - Fancy Cut; packed in light syrup.	1 - 6.0000 Each Case	Schreiber Foods International	23.7500	3,808	90,440.00			
	Manufacturer & Part Number:	Ambrosia							
	Quoted as Spec'd: Yes		Product Number: 13140						
	Response Item Payment Terms	: Net 30							
	Item #: 1475 Sweet Potatoes, Canned - Fancy Cut; packed in light syrup.	1 - 6.0000 Each Case	Churchfield Trading Company	24.5700	3,808	93,562.56			
	Manufacturer & Part Number:	OUR HOUSE							
	Quoted as Spec'd: Yes		Product Number: OHSP610						
	Item #: 1475 Sweet Potatoes, Canned - Fancy Cut; packed in light syrup.	1 - 6.0000 Each Case	Robbins Sales Company	29.9800	3,808	114,163.84			
	Manufacturer & Part Number:	Bruce							
	Quoted as Spec'd: Yes		Product Number: 04441						
	Response Item Payment Terms	: Net 30 days							
14	Item #: 1491 Tomatoes, Diced, No Added Salt - Canned, packed to U.S. Grade B standards or	1 - 6.0000 Each Case	Wm R Hill & Co Inc	16.7900	3,808	63,936.32			

better.

Line Lot Number Code	Item Description Manufacturer & Part Number: Quoted as Spec'd: Yes Item Notes: Total of 3,808 case Full Description: Tomatoes, Dice Must have 140 mg of sodium or Ship Lot: 476. Response Item Payment Terms	ed, No Added Salt - Canne less per serving.	Vendor Product Number: 270e d, packed to U.S. Grade B standa	Bid Price C	esponse Quantity d: 6/#10 cans	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Item #: 1491 Tomatoes, Diced, No Added Salt - Canned, packed to U.S. Grade B standards or better. Manufacturer & Part Number:	1 - 6.0000 Each Case OUR HOUSE	Churchfield Trading Company	18.9000	3,808	71,971.20			
	Quoted as Spec'd: Yes		Product Number: OHTD610						
	Item #: 1491 Tomatoes, Diced, No Added Salt - Canned, packed to U.S. Grade B standards or better. Manufacturer & Part Number:	1 - 6.0000 Each Case Red Gold, LLC	Red Gold, LLC	20.6300	3,808	78,559.04			
	Quoted as Spec'd: Yes		Product Number: REDBQ9B						
	Response Item Payment Terms	: Net 30 Days							
	Response Item Notes: 2.10 oz :	= 1/4 cup Red/Orange Veg	etable						
	Item #: 1491 Tomatoes, Diced, No Added Salt - Canned, packed to U.S. Grade B standards or better.	1 - 6.0000 Each Case	Conagra Brands, Inc.	24.4900	3,808	93,257.92			
	Manufacturer & Part Number:	Angela Mia/Conagra	Brands, Inc 27000-38067						
	Quoted as Spec'd: Yes		Product Number: 27000-38067	7					
	Response Item Payment Terms	-							
	Response Item Notes: 96 case								

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
15	Item #: 1569 **Green Beans, Cut, Canned - Packed to U.S. Grade A standards. 6/#10 cans per case.	1 - 6.0000 Each Case	Wm R Hill & Co Inc	18.5000	4,760	88,060.00			
	Manufacturer & Part Number:	Blackhive							
	Quoted as Spec'd: Yes	-	Product Number: 230b						
	Item Notes: Total of 4,760 case	S.							
	Full Description: **Green Beans oz. per can.	, Cut, Canned - Packed to	U.S. Grade A standards. 6/#10 ca	ans per case. Appro	ox. drained w	eight: 60			
	Ship Lot: 952. Response Item Payment Terms	s: 0% NET 30							
	Item #: 1569 **Green Beans, Cut, Canned - Packed to U.S. Grade A standards. 6/#10 cans per case.	1 - 6.0000 Each Case	Robbins Sales Company	18.9800	4,760	90,344.80			
	Manufacturer & Part Number:	Port Royal							
	Quoted as Spec'd: Yes		Product Number: 01316						
	Response Item Payment Terms	s: Net 30 Days							
	Item #: 1569 **Green Beans, Cut, Canned - Packed to U.S. Grade A standards. 6/#10 cans per case.	1 - 6.0000 Each Case	Churchfield Trading Company	19.9800	4,760	95,104.80			
	Manufacturer & Part Number:	OUR HOUSE							
	Quoted as Spec'd: Yes		Product Number: OHGB610						
	Item #: 1569 **Green Beans, Cut, Canned - Packed to U.S. Grade A standards. 6/#10 cans per case.	1 - 6.0000 Each Case	National Food Group Inc.	20.0000	4,760	95,200.00			
	Manufacturer & Part Number:	NFG							
	Quoted as Spec'd: Yes		Product Number: 606843						
	Response Item Payment Terms	s: NET 30							

Line Lot Number Code	Item Description Response Item Notes: 952 Cas	Purchase Unit se Minimum Ship Lot	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
16	Item #: 1905 Beans, Baked, Vegetarian, Canned - Packed to U.S. Grade A standard. 6 #10 cans / case.	1 - 6.0000 Each Case	Wm R Hill & Co Inc	15.5500	3,808	59,214.40			
	Manufacturer & Part Number:	Blackhive							
	Quoted as Spec'd: Yes		Product Number: 238a						
	Item Notes: Total of 3,808 case	S.							
	Full Description: Beans, Baked, Minimum Drained Weight: 68 oz		ked to U.S. Grade A standard. 6	≇10 cans / case. M	ust be low-so	dium.			
	Ship Lot: 952. Response Item Payment Terms	s: 0% net 30							
	Item #: 1905 Beans, Baked, Vegetarian, Canned - Packed to U.S. Grade A standard. 6 #10 cans / case.	1 - 6.0000 Each Case	Churchfield Trading Company	21.5800	3,808	82,176.64			
	Manufacturer & Part Number:	OUR HOUSE							
	Quoted as Spec'd: Yes		Product Number: OHVB610						
	Item #: 1905 Beans, Baked, Vegetarian, Canned - Packed to U.S. Grade A standard. 6 #10 cans / case.	1 - 6.0000 Each Case	Bush Brothers & Company	30.2400	3,808	115,153.92			
	Manufacturer & Part Number:	Bush Brothers & Cor							
	Quoted as Spec'd: Yes		Product Number: 1638						
	Response Item Payment Terms	s: Net 11 Days							
17	Item #: 1906 Beans, Black, Taco-Flavored – Dark, rich-colored, vegetarian Black beans. Manufacturer & Part Number:	1 - 6.0000 Each Case Bush Brothers & Cor	Bush Brothers & Company	35.4400	3,808	134,955.52			

Line Lot Number Code		⁻ aco-Flavored – Dark, rich- hild Nutrition Program. Ca ht: 60 oz. per can.	Vendor Product Number: 1585 colored, vegetarian Black beans anned - Packed to U.S. Grade A s	Bid Price			Pending Award Quantity	Pending Award Total	Pending Award
18	Item #: 1177 Peaches, Diced, Canned - Diced peaches packed to U.S. Grade B standard or better. Manufacturer & Part Number: Quoted as Spec'd: Yes Item Notes: Total of 3,808 cases Full Description: Peaches, Diced in 100% fruit juice. Ship Lot: 476 cases. Response Item Payment Terms	I, Canned - Diced peaches	Schreiber Foods International Product Number: 38427	20.9500 d or better. 6/#10 ca	3,808 ans per case.	79,777.60 Packed			
	Item #: 1177 Peaches, Diced, Canned - Diced peaches packed to U.S. Grade B standard or better. Manufacturer & Part Number: Quoted as Spec'd: Yes	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company Product Number: 703106	21.9400	3,808	83,547.52			
	Item #: 1177 Peaches, Diced, Canned - Diced peaches packed to U.S. Grade B standard or better. Manufacturer & Part Number: Quoted as Spec'd: Yes Response Item Payment Terms	1 - 6.0000 Each Case Ambrosia : Net 30	Schreiber Foods International Product Number: 38424	27.9500	3,808	106,433.60			

	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Item #: 1177 Peaches, Diced, Canned - Diced peaches packed to U.S. Grade B standard or better.	1 - 6.0000 Each Case	Robbins Sales Company	32.4400	3,808	123,531.52			
		Manufacturer & Part Number:	Our House							
		Quoted as Spec'd: Yes		Product Number: OH						
		Response Item Payment Terms	s: Net 30 Days							
		Item #: 1177 Peaches, Diced, Canned - Diced peaches packed to U.S. Grade B standard or better.	1 - 6.0000 Each Case	Churchfield Trading Company	33.0000	3,808	125,664.00			
		Manufacturer & Part Number:	OUR HOUSE							
		Quoted as Spec'd: Yes		Product Number: OHPD610						
19		Item #: 1184 Pears, Diced, Canned - Diced pears packed to U.S. Grade B standard or better. Manufacturer & Part Number:	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company	18.0800	3,808	68,848.64			
		Quoted as Spec'd: Yes		Product Number: 703080						
		Item Notes: Total of 3,808 case	s.							
		Full Description: Pears, Diced, C 100% fruit juice.	Canned - Diced pears packe	ed to U.S. Grade B standard or be	etter. 6/#10 cans p	per case. Pac	ked in			
		Ship Lot: 476 cases.								
		Item #: 1184 Pears, Diced, Canned - Diced pears packed to U.S. Grade B standard or better.	1 - 6.0000 Each Case	Schreiber Foods International	27.8500	3,808	106,052.80			
		Manufacturer & Part Number:	Ambrosia							
		Quoted as Spec'd: Yes		Product Number: 38505						
		Response Item Payment Terms	s: Net 30							

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Item #: 1184 Pears, Diced, Canned - Diced pears packed to U.S. Grade B standard or better.	1 - 6.0000 Each Case	Robbins Sales Company	29.3000	3,808	111,574.40			
		Manufacturer & Part Number: Quoted as Spec'd: Yes Response Item Payment Terms	Our House : Net 30 Days	Product Number: OH						
		Item #: 1184 Pears, Diced, Canned - Diced pears packed to U.S. Grade B standard or better.	1 - 6.0000 Each Case	Churchfield Trading Company	32.9500	3,808	125,473.60			
		Manufacturer & Part Number: Quoted as Spec'd: Yes	OUR HOUSE	Product Number: OHPRD610						